
13/16"Ø

1. ALL STEELS ARE A36 U.N.O.

0113
MSK PBH

06/23/2020 06/23/2020

REF.DWG.

NO.

REVISIONS

DATE BY

SHOP NOTES:

PAINT : UNL. NTD.

DRAWN BY:

DATE:

CHK'D BY:

DATE:

JOB NO. SHEET NO.

HOLES :

For Fabrication

ELECTRODES : E70XXSURFACE PREP.: UNL. NTD.MIL THICKNESS -

Te
kl

a 
St

ru
ct

ur
es

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

SHIPPING
BILL

QTY MARK

113TR1 1 HSS8X8X1/4 12'-1 1/16" 292

TRUSSES1 113TR1 2108

A500-GR.C

113TR1

bp101 2 PL3/4"X15" 1'-3" 96 A36

hs101 1 HSS10X10X3/16 6'-3 9/16" 145 A500-GR.C hs101

hs102 1 HSS10X10X3/16 4'-7 1/4" 106 A500-GR.C hs102

hs103 2 HSS8X8X3/8 11'-7 3/16" 821 A500-GR.C hs103

hs105 1 HSS8X8X1/4 12'-1 1/16" 292 A500-GR.C hs105

hs106 1 HSS6X6X1/4 6'-0 1/16" 107 A500-GR.C hs106

hs107 1 HSS6X6X1/4 6'-0 1/16" 107 A500-GR.C hs107

hs186 1 HSS10X10X3/16 4'-7 1/4" 106 A500-GR.C hs186

p103 2 FL1/4"X10" 0'-10 5/8" 15 A36

p104 1 FL3/8"X10" 0'-10 3/4" 11 A36

p110 1 FL1/4"X10" 0'-10" 7 A36

p127 1 FL3/16"X1 1/4" 3'-1 5/16" 2 A36

1 1/8"Ø SS_SCREW BOLT 0'-0 5/8" 12 Workshop

1 1/8"Ø SS_SCREW BOLT 0'-0 5/8" 12 Workshop

1 1/8"Ø SS_SCREW BOLT 0'-0 5/8" 12 Workshop

1 1/8"Ø SS_SCREW BOLT 0'-0 5/8" 12 Workshop

TOTAL WEIGHT THIS DRAWING 2154

MSKA 06/26/2020

MSKB 08/20/2020

MSK0 09/30/2020

TOTAL
QTY.

FIELD BOLTS LENGTHMember

A - A

ONE - TRUSS - 113TR1

C
U

T
M

IL
L

C
U

T
M

IL
L

SHERWIN WILLIAMS
2.      DENOTES CONNECTING SIDE MARK

SSPC-SP2/NACE NO.03

SHERWIN WILLIAMS
CONTRACTOR, MAY NEED TO COLOR MATCH TO
CG TO COORDINATE PAINT COLORS WITH PAINT
.
 Red Oxide- 2088-10
Option 3
 Brick Red- 2084-10
Option 2
 Merlot Red- 2006-10
Option 1
Benjamin Moore color PREVIEW Deck:
CLIENT SHOWN CMYK COLOR- C:34,M:89,Y:98,K:48
PROVIDE PAINT DRAWL SAMPLES FOR SELECTION

SMOOTH AND FLUSH
TO SMALL RADIUS,
CONTINUOUS,GROUND 
ALL WELDS TO BE

bp101

13
4/

1 116/ "Ø

1'
-3

4"Ø53
4/

53
4/

13
4/

1'-3

134/534/534/134/

3"Ø

3"Ø

3"Ø

3"Ø

hs106
CTRD

12'-0

3"Ø

18/ "Ø

hs107
CTRD55 16/

18/ "Ø

14/
G

TYP TRUSS
JOINT

18/ "Ø

8

3"Ø

3"Ø

3"Ø

( HSS8X8X14/ x 12'-1 116/ )

p127

bp101 1 116/ "Ø

AA

1 116/ "Ø

hs186

p110
CTRD

113TR1

p103
(C/L)

p104
(C/L)

p103
(C/L)

bp101

hs105

hs103
(C/L)hs103

(C/L)

hs102

hs101
CTRD

4"Ø 4"Ø

5'-105 16/

TYP

14/
3 SIDES
TYP

14/
3 SIDES
TYP

8

14/
TYP

TYP

14/
G

TYP TRUSS
JOINT

1058/

AA
6

R 14'-2 3
4/

6
R 

14
'-2

3 4/

6'-012/ 5'-1112/ 5'-1112/ 6'-012/

93
4/

5'
-6

3 16/

6'
-4

3 16/
2'

-5
7 16/

12'-0

5516/
5516/

91
1 16/

3'
-7

13
16/

4'
-5

1 2/
4'

-6
1 4/

24'-0

55 16/

91
1 16/

3'
-7

13
16/

4'
-5

1 2/
4'

-6
1 4/

53 8/

11'-51 2/

5
5 11'-512/

5

538/

22.75° 22.75°
45.50°12'-37 8/ 12'-378/

24'-71116/

11
4/

41
4/

12

41
4/

12

1 4/

10

5

1
4/

8

8

10

105 8/

3 4/ 3 4/

R
 31'-0 3

16
/

R
 3

1'
-0

3 16/

12'-815 16/ 12'-81516/

6'-5516/

5'-10516/

5516/

6'-55 16/

55 16/

57 16/
5716/

R
9 16/

3
8/

3 8/
6'

-3
9 16/

1 4/

414/

12

33
8/

DETAIL OF p104

5516/

R
11

16
/

414/

3 8/

414/

12

3 8/

18/ 55 16/
1 8/

93
4/

12

p103

(1) 18/ X 0'-0 58/ SS_SCREW

p104

24'-0

hs107hs106

hs101 hs102

hs103 hs103

hs105 p103

p110

hs186

DETAIL OF 113TR1

414/

12

414/

12

21316/

21316/

12'-1116/

24.19°

DETAIL OF hs106

6'-0116/

5'-1078/R
 1

4'
-2

3 4/

714/

51316/

12

12

63
16/

134/

31516/

21
16/

35
8/

312/

111316/

12

87 16/ 212/

6'-0116/

DETAIL OF hs107

R
 1

4'
-2

3 4/

24.19°

51316/

12

12

63
16/

11316/

378/

2
31

1 16/

111316/

12

714/

5'-1078/

21 2/

37 16/

8716/ 71
2/

4"Ø

1 116/ "Ø

1'-3
DETAIL OF bp101

71
2/

712/ 712/

134/ 1112/ 134/13
4/

11
1 2/

13
4/

1'
-3

3” DIA HOLES THRU HEEL POST,
WIRE PULL, NO SHARP EDGE
AT CENTER OF HSS

DETAIL OF hs186

4'-714/
4'-31116/ 3916/

414/

12

9916/

10

DETAIL OF p127

(4) 18/ " DIA HOLES
THREADED SCREW
TAPPED FOR SECURING

11
4/

5 8/
5 8/

41316/41316/

116/

958/

18/ "Ø

41316/
958/

18/ "Ø

41316/

18/ "Ø

18/ "Ø

95
8/

41
3 16/

41
3 16/

41316/ 41316/ 41
3 16/

41
3 16/

DETAIL OF p110

10

10

DETAIL OF p103

1058/
10

12'-1116/

414/

12
414/

12

DETAIL OF hs105

21316/

21316/

3” DIA HOLES THRU HEEL POST,
WIRE PULL, NO SHARP EDGE
AT CENTER OF HSS

DETAIL OF hs101

3” DIA HOLES THRU HEEL POST,
WIRE PULL, NO SHARP EDGE
AT CENTER OF HSS

58/

6'-3916/

5

THREADED TO THE SCREW PROVIDED.
PLATE. THE RING TAB SHOULD BE
FOR SECURING KING POST ACCESS
(4) SCREW HOLES, ONE EACH FACE.

6'-11316/

5

134/

5916/5'-014/91116/
134/6'-11316/

DETAIL OF hs102

3” DIA HOLES THRU HEEL POST,
WIRE PULL, NO SHARP EDGE
AT CENTER OF HSS

414/

12

4'-714/
1134/ 334/3'-334/

3916/

DETAIL OF hs103

11'-7316/

11116/

1916/

33 16/

R
 3

1'
-0

3 16/

11'-6516/

2716/

12

2716/

12




